
Part Number/Price 
Item # Part # Description Price
1 139449 Cable assembly, communication serial data RS-232 $56.00
2 128445 Nut, hex 6-32 nyloc stainless steel $1.00
3 213965 Bracket, display PCA Consult
4 216445 Screw, pan head 6-32 × 1/2 Phillips head zinc plated torx drive $0.50
5 153429 PCA ScaleCore3 1 channel with turck insert - controlled $280.00
6 214142 Cable assembly switch $29.00
7 144537 Screw, lkg pch pan head 6-32 × 1/4 Phillips stainless steel $1.00
8 212425 PCA LED display $690.00
9 213973 Window, ND gray Consult
10 214763 Gasket, display window Consult
11 213628 Casting front machined $420.00
12 142574 Screw hex head stainless steel blk 6-32 1/4 $4.20
13 213678 Switch panel assembly $215.00

MSI-9600HT
Front Casting Assembly

136 www.ricelake.com    |   Phone: 800-472-6703 
An ISO 9001:2015 Accredited Company   © 2024 Rice Lake Weighing Systems   1/24   Prices and specifications subject to change without notice. Visit ricelake.com for current prices.

REPLACEM
ENT PARTS



MSI-9600HT
Front Casting Assembly 

 

1

24

3 8

5

7

69
12

11
10

1

2
3

4

5

6

REF. CONNECT TO P1 OF (10) SWITCH PANEL 

CONNECT TO P7 OF (5) PCA 

5

1

4

3

2

1

13

6

12

11

6

7

8

9

10

137www.ricelake.com    |   Phone: 800-472-6703 
An ISO 9001:2015 Accredited Company   © 2024 Rice Lake Weighing Systems   1/24   Prices and specifications subject to change without notice. Visit ricelake.com for current prices.

RE
PL

AC
EM

EN
T P

AR
TS


	Overhead Weighing
	Replacement Parts
	MSI-9600HT Front Casting Assembly



